

chain complex

11022.1

~~11022.1~~

$$\{(C_n, \partial_n)\}_{n \in \mathbb{Z}}$$

$$\dots \rightarrow C_{n+1} \rightarrow C_n \xrightarrow{\partial_n} C_{n-1} \rightarrow \dots$$

$$\partial_{n-1} \circ \partial_n = 0$$

$$C_* = \bigoplus C_n$$

11022.1

$$n\text{-cycles } Z_n = \ker \partial_n$$

$$n\text{-boundaries } B_n = \text{Im } \partial_{n+1}$$

$$H_n(C_*) = Z_n / B_n$$

11022.1 11022.1

$$C_* = \{(C_n, \partial_n)\} \quad \tilde{C}_* = \{(\tilde{C}_n, \tilde{\partial}_n)\}$$

chain map

$$f: C_* \rightarrow \tilde{C}_*$$

$$\begin{array}{ccc} C_n & \xrightarrow{f_n} & \tilde{C}_n \\ \partial_n \downarrow & & \downarrow \tilde{\partial}_n \\ C_{n-1} & \xrightarrow{f_{n-1}} & \tilde{C}_{n-1} \end{array}$$

ses 11022.1 11022.1 11022.1

$$\begin{array}{ccccccc} 0 & \rightarrow & A & \xrightarrow{a} & B & \xrightarrow{b} & C \rightarrow 0 \\ & & \uparrow & & \uparrow & & \\ & & 0 & \rightarrow & A & & \\ & & \uparrow & & \uparrow & & \\ & & 0 & \rightarrow & 0 & & \end{array}$$

$$0 \rightarrow A \xrightarrow{a} B$$

11022.1 11022.1 11022.1

$$B \xrightarrow{b} C \rightarrow 0$$

11022.1 11022.1 11022.1

11022.1 11022.1 11022.1

$$0 \rightarrow A_x \xrightarrow{a_x} B_x \xrightarrow{b_x} C_x \rightarrow 0$$

$$\forall n \quad (0 \rightarrow A_n \xrightarrow{a_n} B_n \xrightarrow{b_n} C_n \rightarrow 0)$$

11022.1 11022.1 11022.1

Co chain complexes δ s.e.s $\mu \rightarrow \nu$ (zig-zag) s.e.s

$$0 \rightarrow A^* \xrightarrow{a^*} B^* \xrightarrow{b^*} C^* \rightarrow 0$$

$\forall n$ \exists (connecting homomorphism) $\delta: H^n(C^*) \rightarrow H^{n+1}(A^*)$

s.e. $\dots \rightarrow H^n(A^*) \xrightarrow{a_n} H^n(B^*) \xrightarrow{b_n} H^n(C^*) \xrightarrow{\delta} H^{n+1}(A^*) \rightarrow \dots$ is exact

$$\begin{array}{ccccccc} 0 & \rightarrow & A^n & \xrightarrow{a^n} & B^n & \xrightarrow{b^n} & C^n \rightarrow 0 \\ & & \downarrow d & & \downarrow d & & \downarrow d \\ 0 & \rightarrow & A^{n+1} & \xrightarrow{a^{n+1}} & B^{n+1} & \xrightarrow{b^{n+1}} & C^{n+1} \rightarrow 0 \\ & & \downarrow & & \downarrow & & \downarrow \\ 0 & \rightarrow & A^{n+2} & \xrightarrow{a^{n+2}} & B^{n+2} & \xrightarrow{b^{n+2}} & C^{n+2} \rightarrow 0 \end{array}$$

zig-zag

" $\delta := (a^{n+1})^{-1} \circ d \circ (b^n)^{-1}$ " (zig-zag)

$\delta_n \in C^n$ s.e.s

$\exists \beta_n \in B^n \quad b^n(\beta_n) = \delta_n \iff \delta \in \text{Im } b^n$

$d(\delta_n) = 0$ (need proof)
 $0 = d(b^n \beta_n) = b^{n+1} d\beta_n \iff (d\beta_n) \in \text{Ker}(b^{n+1}) = \text{Im}(a^{n+1})$

$\exists! \alpha_{n+1} \in A^{n+1} \quad a^{n+1} \alpha_{n+1} = d\beta_n$

δ^{n+1}

\iff (zig-zag) s.e.s

$a^{n+2} \alpha_{n+1} = d a^{n+1} \alpha_{n+1} = d(d\beta_n) = 0$

$\alpha_{n+1} = 0 \iff \delta^{n+1} \in \text{Im } a^{n+2} = 0$

$A^{n+1} \rightarrow \dots \rightarrow C^n \rightarrow \dots \rightarrow 0$ zig-zag s.e.s

"zig-zag" s.e.s

$b^n \beta_n' = \delta_n, \quad b^n \beta_n = \delta_n \iff \text{Im } \delta_n = 0$ (I)

$(b^n(\beta_n' - \beta_n) = 0)$

exactness $\implies \exists \alpha_n \in A^n \quad a^n \alpha_n = \beta_n' - \beta_n$

commutativity $\implies d(\beta_n' - \beta_n) = a^{n+1} \alpha_n$

→ $n \leq m$ $n \leq m$

$$a^{n+1}(x - x' - dx_n) = 0 \iff \begin{cases} \exists x & a^{n+1}x = d\beta_n \\ \exists x & a^{n+1}x' = d\beta_n' \end{cases}$$

↔ $|S|$
 $x - x' - dx_n = 0$

→ $d \in \text{Im}(a^n) \iff \exists \beta_{n-1} \in C^{n-1} \text{ s.t. } d\beta_{n-1} = \delta_n$ (II)

$$\delta_n = d\beta_{n-1} \in C^n \quad n \leq m$$

$$\exists \beta_{n-1} \Rightarrow \exists \beta_{n-1}, b^{n-1}\beta_{n-1} = \delta_{n-1}$$

↔ $\exists \beta_{n-1} \in C^{n-1}$ (period)

$$b^n d\beta_{n-1} = db^{n-1}\beta_{n-1} = d\delta_{n-1} = \delta_n$$

$$\Rightarrow d\beta_{n-1} = \beta_n \Rightarrow d\beta_n = 0$$

$$a^{n+1}d\beta_n = d\beta_n = 0 \iff \exists \beta_n \in C^n \text{ s.t. } d\beta_n = 0$$

$$\left(\delta \left(\begin{bmatrix} \delta_n \\ \vdots \\ \delta_1 \end{bmatrix} \right) = \begin{bmatrix} \delta_{n+1} \\ \vdots \\ \delta_1 \end{bmatrix} \right)_{\delta_{n+1} = 0}$$

Exact $\dots \xrightarrow{a^n} H^n(A^*) \xrightarrow{a^{n-1}} H^n(B^*) \xrightarrow{b^{n-1}} H^n(C^*) \xrightarrow{\delta} H^{n+1}(A^*) \rightarrow \dots$ (III)

$$a^n \rightarrow C^{n+1} \quad \delta[C] \in H^n(A^*) \quad n \leq m$$

$$\boxed{\text{Im}(\delta) \subseteq \ker(a^n)} \iff a^n \delta[C] = [d\beta_{n+1}] = [0]$$

$a^n d\beta_n = d\beta_{n+1}$
 $\iff \exists \beta_n \in C^n \text{ s.t. } d\beta_n = \beta_{n+1}$
 $\iff \beta_{n+1} \in \text{Im}(d)$

$$\delta = (a^n)^{-1} \circ d \circ (b^{n-1})^{-1} \quad \text{↔ } \text{rank } \delta = n$$

$$\delta^{-1} = (a^{n+1} \circ d \circ b^{n-1})^{-1} = b^{n-1} \circ d^{-1} \circ a^n$$